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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-II Examinations, 2018

PHILOSOPHY-HONOURS f
PAPER-PHIA-IV L ocamen.
Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks. anfes I 70 Yo ‘Z‘ﬁVW feat FeF1
Candidates should answer in their own words AN [FCST ©I I FET N W
and adhere to the word limit as practicable. Beq PEE!

All symbols are of usual significance.

Answer Question No. 1 and six more questions taking fwo from each
Group A,Band C

s et @3k e ¥, 4 @32 91 (ATE 16 Fa fAew oieat g fo efvea Ted we

L. Answer any five questions from the following: 2x5=10

fsferie @-cie 2Af5fe 2rea Tea wies

(a) What is truth function?
FOJICHSE FIE A 2
(b) If p v q=F, then determine the truth value of the statement:
(P>9-(@>p)
FMpvq=F, W@ (p> q)- (q> p)-a3 oryey fdfad e

(c) Translate the following sentence into Boolean notation and then express it in
terms of Venn diagram.

Men and only men are rational

s Ao T fAire e I coafbiaa ST 2 St
IR GR (FREIG A3 Jangfesr=ia |

(d) Explain the relation between a class and a complementary class.
T @ “ffd=iFe TR e 7o P |

(e) What is the negation of a contingent statement form and why?
GG WioifeF AP ey F1 qR @ 2

(f) Explain the rule of Existential Generalisation.
A6 T 3q SwizgeFTR I I

(g) Give the form of the method of Residues.
AR &S9P vde |

(h) What is the Product theorem of calculating probability?
FFRYS! NI ST T I A
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2.(a)

(b)

(©)

(d)

3. (a)

(b)

2105

Group-A
fTete-=

What is exclusive ‘or’? Give example.
PRI ST TS F @I 9 Trizge whe)

Define Tautology statement with illustration.
Trizae RIS F05 379 A IR 718 |

Determine whether the following statement forms are tautologous, self-
contradictory or contingent by means of truth table.

FOPARA R Ao AT Foswe), 7e: fayt 9 wiwfes o sear

O [p2@>0]2[(po29>(P>0)]

(i) (p=qv(~p=~q)

Use truth table to determine the validity or invalidity of the following
argument:

If Angola achieves stability, then both Botswana and Chile will adopt more
liberal policies. But Botswana will not adopt a more liberal policy.
Therefore, Angola will not achieve stability.

TeRiRAR AR e yfea et At stagst fada s
Tfw e FEfoMere! o 3, BiRes IR R bfe Tern @il Srigaifs

ARH FAE@ e ICWE M@ TwAIe &R I A OOAR, arEl
FfeReTe! Sreta Fa Al

Construct formal proof of validity of the following arguments
(Do not use C.P or I.P)

fAsfeiive Yferelem wiwers (ge! 2= wis (C.P 3 1.P J32 <41 (A =1l)
(i) P>Q)-(R>S)/.. (P.R)D(QVS)
(i) (RvS)D(TU),~R>(Vo~V),~T/. ~V

(iii) If the Indian Team wins this game, then it will win the series.
Therefore, if the Indian Team wins this game, then if it continues to hit
then it will win the series.

Iw SRR wo @ (el (ore, W) okl Fifawl fEre A oAk 3w
CIFOR Wel @3 (Lelfd (BT wid M ol SN s I, o o/t
et ferrs i

Prove the invalidity of the following arguments by the method of assigning
truth values.

ST S siwfed MR Neae Ieafer el e sl

(i) Ko(@L'M)
(LoN)v~K
O>(Pv~N)
(~PvQ)-~Q
(Rv~P)v~M
. KoR
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(i) A>B-C)
B> (DE)
(A>D)o(F=0)
A>(B>~F)
~Fo(~G>2E)
" E

4. (a) Why is truth tree method called a decision procedure?
TP oiwfors (@ e wmfe =1 2 ¢
(b) Use truth tree method to test the validity of the following arguments.

PR #1E S i I fe Jeeler tage! A Tl

A< B
A—>B

O]

(ii) We shall swim even if it rains. Therefore, we shall swim.
Sl SiteE Fio0a1 afne 3Rz TR, R A PN

(¢) Determine whether the following statement is tautologous or not by using
truth tree method.

ToPR e Tt Tea AFH Foe3Tey [l (e
A—>[A— (B &-B)]

5. (a) Explain the method of Indirect Proof as a method of proving argument.
fa emiel Aw oA ATALF AN TS I P

(b) Prove the validity of the following argument by the method of conditional
proof.

eiiTare e e ey fafEe Ifed (o e e |
EDS
E>(S>N)
SO(NDF)
SESF
(c) Prove the validity of the following argument by Indirect Proof (1.P) method.
1P e sy e gfeba (ade! e Sl
A>B-C)
(BvD)DE
DV A
= E
(d) Use the method of Indirect proof to verify that the following statement is a
tautology.
oA @Wlel Ao TR @i FC 1 ferfefre aefe FosTey |

A/ Bv(B>0)
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Group-B
faesl-4
6. Test the validity of the following arguments by Venn diagram indicating the 5x3

mood and figure of each of them.
eifefba IS ¢ W SrEd 3@ Fefie Feshr ceabraa =i el @
N

(a) Only teachers were present in the seminar. Some scholars were present in
the seminar. So, some scholars are teachers.

@ FreaiE o Safge feel oy seesale GifEia Boifgs foe)
ok [y sitaas s |
(b) No men are non-mortal. All kings are men. Therefore, some kings are
13. mortal.

(I WE 7Y SN | 35T A 27 WA | AR, (I (BN e 27 FqeP e |
(c) All that glitters is not gold. This ring glitters. Hence, this ring is not gold.
¥ 5FBE I8 Gl 71 @ SR 596% I oAk @2 wRHH e T

12.

7. (a) What is meant by ‘existential import’ of proposition? If the Boolean 3+6
( interpretation of Categorical proposition be accepted, what laws of
traditional logic will fail to hold?

W ARG Sl FEe Ft @RIT ¢ FATerE w9 A A Il
SIZEICI 20 AR Y Reita @ @i, e sfeqs 27 9

( (b) Give Boolean interpretation of the following sentences and represent them 2x3 =§
in Venn diagram.

frefiiRe Al Fhffics awm 3@ o o e 3t

(1) There are traitors.
(RRIR) SR |
(i) All men are not lazy.
e WlF ST w3 |
(iii) Only poets are imaginative persons.

@I SR FaeRe i)

8. (a) Write two limitations of the Rule of Existential Instantiation (E.I.)
E.1. foa 4t Asiaet @1
(b) Construct formal proof of validity of the following: 4x
fafite Yol siwmere tagst emid s
(i) (x)(Ax > Bx)
(x) (Sx >~ Bx)
(Ix) (Dx - Sx)
~ (3x) (Dx - ~ AX)
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(1) (x) (Sx> Bx)
(x) [(Bx - Sx) o Px]
S (X)) [Sx o (Bx - Px)]

(iii) All citizens who are not traitors are present. All officials are citizens.
Some officials are not present. Therefore, there are traitors.

Foe fEe I AR T ol TeifFe Wiz W smided gfe =
ANEF | N @ TR TS @21 TeWT, AZWRA TR

9. (a) Symbolize the following sentences by using quantifiers, variables etc.
e et g, Ifear 2eoriina IR A6 Tl
(i) Writers and readers both are kind
ETLF GR 20T TR W@l
(i) A book is interesting only if it is well written
(ii1)) Apples and oranges are tasty and good for health.
ST 8 FAENCETY I @R FICEE &) Site|

(b) Determine the invalidity of the following arguments by the method of truth
value assignment:

7] SCAICeR =idl raie Yeafr sitage awid st
() (@) Bx-~Cx)

x) (Dx o ~Cx)

~o (x) (Dx o Bx)

(i) All generals are handsome. Some intellectuals are handsome.
Therefore, some generals are intellectuals.

e Gl 20 9| @I @I I@GIS 2 T3 | o9 (@i @i FTielfS
o &
@) 3x) [Px- (Ax- ~Ix)]

(x) (Px > Gx)
3x) (Px- ~ Ax)
(%) (Sx D> Ax)
o @x) (Sx - ~ Gx)
Group-C
fqotat-at
10.  Discuss critically Mill’s method of Difference as a method of discovery and

a method of proof.

B @R &ANER Awfomeet e BRSEF! 21ais FIBR SEnt st
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